
Select First Adress GetTemperature(Adress) Select Next Adress

Adress == Last Adress

Adress != Last Adress

Mai



Initialization-
Procedure

MATCH 
ROM(Adress:64Bit)

CONVERT T READ SCRATCHPAD



RESET (pull bus LOW for 480µs)
PRESENCE (Wait max. 240µs for 

a falling edge on the bus)

a falling edge (=min. 1. sensor) was detected

no falling edge (=no. sensor) was detected



WRITE_BYTE(55h) WRITE_BYTE(Address[n])n = 0

n==8

n = n + 1 n < 8



WRITE_BYTE(44h)



WRITE_BYTE(BEh)
RESULT_ARRAY[i] = 

READ_BYTE()
i = 0

i==9

i = i + 1 i < 9

For 
Temperature 

only first 2 
Bytes are 
needed



WRITE(Byte[i])i = 0

i==8

i = i + 1 i < 8



pull bus LOW wait max. 15µsBit == 1

wait min. 60µsBit == 0

release bus to HIGH



RESULT_BYTE[i] = READ()i = 0

i==8

i = i + 1 i < 8



pull bus LOW wait min. 1µs release bus to HIGH
detect signal on the 
bus for max. 14µs

bit = 1

bit = 0

bus was HIGH

bus was LOW

Text

both times 
together <= 

15µs
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